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RN B RHF A RA T B47 BURE
BILHE: — WHEA: B1THEN
BIERAL: FMMCBEFMEERAR
WA
Fe | WA WAL B R R RS ARIIBE! P YN K HH#
FEARAR S 2474k R Gei e HE O L 22/650-1%-0607-1/2/3
1| HEgEA RACHI I KK o I | 60607 B
FARARS, 35k R G RIHE O I IFL 22/650-2%-0606-1/2/3
5 B S W o B P HE R&
22/650-1%-0607-1/2/3 (75+75+75) mL 10 R
1 22/650-2#-0606-1/2/3 AL FE A AREE SE LT » %M%L
22/650-0%-0606/0607-1/2 70mm 10 JERE
BS54 v
W E ST KR | R AhTE WBHS SPAR | SR
AL j;ﬁ};g%%*fi ﬁjﬁ?ﬁg&lﬁ 0.06 meg/m? PXS-270 B Fit HXIC-X-03 | ¥ # |6H08H
R MR R
AR o=t &5 Bpr ARIEZF2 PR SRHE
JRiERE T GSB 07-1194-2000 (201754) mg/L 0.786 0.768+0.050 =




#
[\
b=l
H
w
p=i

HXJC[2022]% 650B 5

Mg R
s 1 425 B CER b5 e HE R HE)
. . ‘ o WEim 25 5% (GB25465-2010) FKA&Ssaz 1 Hffsa
WAEME RS W5 5 2R iy _
1 2 3 YIE REWREE PR PR BRI
SFH RIS m/s 7.5 7.8 7.7 7.7 — — —
T RE C 31.8 31.6 31.7 31.7 — — —
HRIE S 2L RS MRS E m3/h 1039082 | 1080645 | 1065405 | 1061711 — — —
S L 1 L
22/650-1%-0607-1/2/3 PR = m*h 720766 750063 739323 736717 - — —
GIRE % 8.35 8.35 8.35 8.35 — — —
AR mg/m> 0.13 0.13- 0.14 0.13 0.14 3.0 6
FIviiE m/s 16.9 17.3 16.6 - 16.9 — = —
SEHRE C 34.1 34.1 34.3 34.2 — — —
HRIES 3L RS A= m3/h 2340012 | 2395430 | 2299834 | 2345092 — — —
R PRI WL
22/650-2#-0606-1/2/3 PRI E m3/h 1618747 | 1657030 | 1590685 | 1622154 — s —
EIRE % 7.81 7.81 7.81 7.81 — — —
AR E mg/m3 0.79 0.74 0.82 0.78 0.82 3.0 Ei%
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